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Maximum Power Transfer Theorem
A load will receive maximum power from a linear bilateral dc network when its total resistive value is exactly equal to the Thévenin resistance of the network as “seen” by the load.
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Or
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EXAMPLE: Determine the RL necessary to transfer maximum power to RL, and calculate the power of RL under these conditions.
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Solution:
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EXAMPLE: For the network. Determine the value of R for maximum power to R, and calculate the power delivered under these conditions.
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Solution:
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EXAMPLE: Find the value of RL i for maximum power to RL, and determine the maximum power.
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Solution:
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